Algebra II Chapter 5 Review (3rd Six Weeks)

1.
Graph [image: image1.png]y

x4+ 67 +5



.


2.  Graph [image: image2.png]y = 2x° - 20x + 51



. 


3.
Use the equation [image: image3.png]x-1%+2



.

a)  If you translate the original parabola to the left 2 units and up 6 units, what is the equation of the new parabola in vertex form?

b)  If you translate the original parabola to the right 3 units and down 5 units, what is the equation of the new parabola in vertex form?

4.
Consider the function [image: image4.png]y = —5x° + 20x + 6



. Does the function have a maximum or minimum value? What is this value?
Identify the vertex and the axis of symmetry of the parabola. Identify the coordinates of the points corresponding to P and Q.

5.
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Write the equation of the parabola shown in the graph in vertex form.

6.






7.
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Solve each equation by factoring.  (This means find “x”!  Don’t just factor!!!)

8.
[image: image8.png]15x% + 6x



 = 0


9.   [image: image9.png]—Tx+ 12



 = 0


10.   [image: image10.png]x + 3x— 40





11.
[image: image11.png]2%2 + 3x - 14



 = 0

12.   [image: image12.png]25x% — 64



 = 0


13.   [image: image13.png]_12x% - 20x



 = 0
Solve the equation by finding square roots.

14.
[image: image14.png]3x°







15.   [image: image15.png]


.

16.
Simplify [image: image16.png]


 using the imaginary number i.

17.  Simplify [image: image17.png]


 using the imaginary number i.

18.
Graph the complex number [image: image18.png]


.


19.
Find the value [image: image19.png]5+



.



20.   Find the value [image: image20.png]|3 + 2i|



.
Simplify the expression.

21.
[image: image21.png](1-20+ (3+ 3)





22.   [image: image22.png](2- 50— (3+ 4





23.   [image: image23.png]




24.
[image: image24.png](6 — 65)(4 — 2i)






25.   [image: image25.png](=3 + 48)(4 + 52)





26.
Find the missing value to complete the square.

[image: image26.png]x4 24x +




Solve the quadratic equation by completing the square.

27.
[image: image27.png]x4 ax-7

0





28.   [image: image28.png]2+ 12x+26 =10




Use the Quadratic Formula to solve the equation.

29.
[image: image29.png]4x2 + 6x - 4





30.   [image: image30.png]5x2 + 9x 4+ 6






31.   [image: image31.png]x4+ x+8 =10





32.
The function [image: image32.png]y = —168% + 366



 models the height y in feet of a water balloon t seconds after it is dropped from the edge of a balcony. How long will it take the balloon to hit the ground? Round to the nearest hundredth of a second.

33.
Nuoy Manufacturing estimates that its weekly profit, P, in hundreds of dollars, can be approximated by the formula [image: image33.png]P=-3x+6x+ 10



, where x is the number of units produced per week, in thousands.

	a.
	How many units should the company produce per week to earn the maximum profit?

	b.
	Find the maximum weekly profit.



34.
A manufacturer determines that the number of drills it can sell is given by the formula [image: image34.png]D= -3 + 180p - 285



, where p is the price of the drills in dollars.

	a.
	At what price will the manufacturer sell the maximum number of drills?

	b.
	What is the maximum number of drills that can be sold?


Find a quadratic model for the set of values.

35.
Find a quadratic model for the set of values:  (–2, 8), (0, –4), (4, 68)

36.
Find a quadratic function to model the values in the table. Predict the value of y for x = 6.

	x
	y

	–1
	2

	0
	–2

	3
	10
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1.
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2.
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3.


	a)
	[image: image37.png]x+ 1% +38





	b)
	[image: image38.png]




	
	



4.
maximum value (because the parabola opens down); max = 26

5.
(–1, –1), x = –1;

P'(0, –2), Q'(–3, –5)

6.
[image: image39.png]




7.
[image: image40.png]y

“ix -2+ 4





8.
[image: image41.png]3x(5x + 2)





9.
[image: image42.png](x-3x-4)





10.
[image: image43.png](x+ 8)(x - 5)





11.
[image: image44.png](2x + Tix - 2)





12.
[image: image45.png](5x + 8)(5x - 8)





13.
[image: image46.png]-4x(3x + 5)





14.
[image: image47.emf]3

, –[image: image48.emf]3



15.
[image: image49.png]x = +4i





16.
[image: image50.png]L)





17.
[image: image51.png]35





18.
[image: image52.emf]imaginary
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19.
[image: image53.emf]26



20.
[image: image54.emf]13



21.
[image: image55.png]4 + i





22.
[image: image56.png]




23.
18

24.
[image: image57.png]12 — 36i





25.
[image: image58.png]-32 + i





26.
144

27.
[image: image59.png]2+ Af11





28.
[image: image60.png]6+ AJ10





29.
[image: image61.emf]1
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30.
[image: image63.emf]
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31.
[image: image65.emf]1
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32.
4.78 seconds

33.
1,000 units; $1300

34.
$30; 2,415 drills

35.
[image: image67.png]y = d4x’ + 2x- 4





36.
[image: image68.png]y
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